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We would have thought that a gentile prefers being unrestricted

OVERVIEW

The X713 explained that the w17°1 of X117 27 regarding a 121 vP 73 is that it is a M27
for him, even though we may have thought that since 7% K>3 X7°por2 729, perhaps
the Jup 2™2Y is also 2 X°1 X1°PoI3, and it is not a M1 for him to become a SR,
therefore X177 27 teaches that since he is still a Jvp who was not yet M0°X ayv ayy, it
1s a M7 for him. Mo01N questions and explains the basic assumption of the X3
that 72y is certainly 17°% X1 X7 poma.

mooIn anticipates a difficulty:
- (v 97 TPOIT RIDP P IR YN 31999 13397 32 HY 9N)
And even though the 3129 argue on »''1 in the first P2 of °w» noon -
- 295 NN R9YDONAT NPV 119 1YY

And they do not agree with s"2 reason of 7°% X751 R95PD72 K72V, the 1127 maintain
that it is a m>r for the 72v to become a (complete) Jew and the 72y is not X71°pon2 7°% &°l. How
can the X3 assume that perhaps 7°% X1 X71°pon2 0"y, since 72 Ri°I K1PPOI72 X7 72¥, when the
whole foundation is false since even 72¥ is not X°P5i12 12 X°1 according to the 1127!

mooIn responds:
— YYD 119 MNY WIPINIY 3N‘!’?ﬁ‘n: YYIN 1PNV T2y %3) 999 9N

These words of the 7127 that 72y is not 7% ¥n°1 X°Po2 is regarding only an 72y,
for he is not concerned that he is losing his 89277 since he is freeing himself

from bondage; that it more important to him than the advantage of 81’571 (therefore the onam
maintain 72y% X377 nIO7) -
= NYPONA DD NN 7AW 1PNY 02915 121y %a) VAN

However regarding an (adult) 2"12p who is not in bondage, he is % NXno2

! The mwn there (on 2,2°) cites a NPY?n between 11271 1" in a case where a master gave a °%w a MY oY to give it
to his 72¥ (in order to free him). n"9 maintains that until the 7°5w hands over the MW “wW to the 72y, the master can
change his mind and revoke the " nw 70w, since according to n"7 it is (somewhat of) a detriment for an 72v to
become free (since he may prefer the uninhibited lifestyle of the 72y, for 7°% Xm°1 X°poia 72¥) and  XOX OTR? 120 PR
1°191 (see previous 1°2°2un 1"7 '0n footnote # 3). However the 1127 maintain that it is a mo7 for the 72y to be free and
since 17192 KW QTXY PI1, as soon as the 77w receives the MW wWw on behalf of the 7av he is 7917 the MW for the
72y and the master can no longer retract the Mnw.
? According to the 1127 what is the w17°n of 71" since there is no concept of 1% X1 X1°po7a.
? The T12¥ may indeed be X792 2 R (this is what the Xm3 may mean when it states 7°% X X7°p572 871 729"
[even according to the 1327]; see (however 2"w1mn and) prx> ¥77); however the freedom from bondage supersedes
any advantage of X7°pa1.
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R99P572 (even according to the 1127) —

mooIn supports his view that the 13127 also agree that 7°% X°1 X1°pon2 (7231) 0"0OY:
- SH19X1 RINAM KNP 11959 9957 597 N1V NY INT *AN9) 129

And indeed it seems so that the 7127 also maintain 72 X1 X71°po3, for if you will
not say so, but rather maintain that only n"9 rules 7°% RXr°l X7°pon2 72¥ (2™DY) but
not the 71127, how does the X773 bring proof to the ruling of 7" (that it is a m27 for
the 1P 73) from that Xn>72 of N -

1199 N NIPPONA 1Y 1799 91723 9929NT *NOA 1339 MY
Perhaps that Xn>71 is according to the 3229 who maintain that even by an adult
(72v) 2"y there is no 79 X1 XPOIA.

SUMMARY
All agree to the concept of 7°% &r°1 X7°po72 00w 72v; except that the 13127 maintain
that by an 72v this is overshadowed by his desire to be free.

THINKING IT OVER
Would it be more appropriate for the 1"7 of this maoIn to be, X7 72v7 2P RAT'
7% X1 X7°po2'; why yes and why no?’

* The w1 of 7" is even according to the 7127
> The X3 (seemingly) wants to prove that there is a novelty in the ruling of 71"~ that there is a difference between an
adult 2"2Y (who is 7°% ®r°1 RP572) and an WP 2"0Y (for whom it is a M2r1). The X713 cites a Xn>>72 which discusses
a N3 less than three years old. Initially the X123 assumed that this is possible only if we maintain 7"y 70X 127207
7" since it is a M27 for her.
% One could then argue that according to the 1321 (who may be the authors of the 121 P71 Xn12) there is no wI7°n in
the ruling of 71" since there is no 7°% &r°1 kPR3, and according to »" (who maintains 7°2 Xr°1 X71°po172 72v) perhaps
even an 10p "3 is also 7% X1 X7°po72 and disagrees with the ruling of 7", However if we maintain that even the
1137 agree that 7°% X1 R°p53, then there is a w170 that by a jup it is a nor.
" See nop MR prix OTIO.
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